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Math 21A
Kouba
Worksheet &l

1.) Use limits and algebra to determine the value of constants A and B so that each of the
following functions is continuous for all values of x.

2 -7z +6
a.) f(‘”):{—_x—-fs , ifx#6
A, if x = 6.
[ A%z - A, ifz>1
Atz
if 0
c.) f(w)={A+1’ Hes
A3 +3, ifz>0.
3, ife<1
d.) f(a:):{A:c2+B, fl<z<2
5, if x > 2.

Ar — B, if x < -1
e.) f(a:):{2:c+3A+B, if -1<z<1
4, if 2> 1.

2.) For what x-values are the following functions continuous ? Briefly explain why using
shortcuts and rules from class. Sketch the graph of each using a graphing calculator.

2) gla) = oy
b.) h(z) = %

c.) h(z) = sin®*(In(3z — 5))

2 —-3z—-4 .
d')g(m):{_——_x-—él , ifzx#4

5, if £ =4.
341
gyéi,ifx¢l,~l
) f@)=4" 35 ite=—1
3, ifz=1.
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